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450B FEED ANTENNA PATTERNS 2dBi
Azimuth

Vertical

Farfield Realized Gain Abs (Flevation=0)

o —— farfield (f=4.96) [1]

90

90

120 e -120

Frequency = 4.96

180 Main lobe magritude = 2.34 dB
Main lobe direction = -16.0 deg.
Aziruth { Degree vs, dB Angular width (3 dB) = 331.6 deg.

Farfield Realized Gain Abs (Blevation=0)

0 —— farfield (F=5.2)[1]

90

-120

-150
180 Frequency =52
Main lobe magride = 233 dB

Azirth / Degree ve. dB Main lobe direction = -18.0 deg.

Horizontal

Farfield Reglized Gain Abs (Elevation=0)

0

farfield (f=4.96) [2]

-0

-120

Frequency = 4.96

Main lobe magnitude = 356 dB
Main lobe direction = -174.0 deg.
Angular width (3 dB) = 53.7 deg.
AZimuth f Degree vs, dB Side lobe level = -34 dB

Farfield Redlized Gain Abs (Elevation=0)

U —— farfield (f=5.2) [2]

80

-120

Frequency = 5.2
Main lobe magnitude = 3.99 dB

180 Main lobe direction = -171.0 deg.
Angular width (3 dB) = 62,0 deg.
fzimuth [ Degree vs, dB Side lobe level = 3.7 dB



Farfield Realized Gain Abs (Hevation=0)

0

farfield (f=5.4) [1]

180 Frequency = 5.4
Main lobe magnitude = 2,15 dB
Azirmuth / Degree vs, dB Main lobe direction = -20.0 deg.

Farfield Realized Gain Abs (Elevation=0)

a

farfield (f=5.8) [1]

180 Frequency = 5.8
Main lobe magnitude = 1,19 dB
Azimuth / Degres vs. dB Main lobe direction = -68.0 deg.

Farfield Realized Gain Abs (Hlevation=0)

0

farfield (F=5.4) [2]

180

Azimuth [/ Degree vs, dB

Farfield Realized Gain Abs (Elevaton=0)

0

S0

120 -1

-120

Frequency = 5.4

Main lobe magnitude = 4.27 dB
Main lobe direction = -170.0 deq.
Angular width (2 dB) = 563 deg.
Side lobe level = -3.9dB

farfield (f=5.8) [2]

20

Frequency = 5.8
Main lobe magnitude = 3.4 dB

180 Main lobe direction = -174.0 deg.
Angular width (3 dB) = 58.3 deg.
Azimuth / Degree vs. dB Side lobe level = -19dB



Vertical

Farfield Redlized Gain Abs (Azimuth=0)

Elevation

farfield (f=4.987 [1]
Azirnuth= 180

Elevation f Degree vs. dB

Frequency = 4.96

Main lobe magritude = 2,17 dB
Main lobe drection = -1.0 deg.
Angular width (3 dB) = 74.2 deg.
Side lobe level = -1.3dB

Horizontal

Farfield Reslized Gain Abs (Azimuth=0)

Farfield (f=4.,96) [2]

Azirnuth= 0 Azirnuth=180

30

Frequency = 4.96

Main lobe magritude = 339 dB
Main lobe drection = -1.0 deg.
Angular width (3 dB) = 714 deg.
Side lobe level = -1.0dB

Elevation / Degree vs., dB

Schematic Farfieldsifarfield (f=4.96) [21 3

Farfield Realized Gain Abs (Azimuth=0)

farfield (F=5.2) [1]
Azirnuth=180

90

Elevation / Degree vs, dB

Farfield Realized Gain Abs (Azirmuth=0)

Azimuth= 0 60

Frequency = 5.2

Main lobe magriude = 2,12 dB
Main lobe drection = 1.0 deg.
Angular width (3 dB) = 67.3 deg.
Side lobe level = -09dB

farfield (F=5.4) [1]
Azimuth=180

&0
Q0

Elevation / Degree vs, dB

Frequency = 5.4

Main lobe magriude = 1.85 dB
Main lobe drrection = -1.0 deg.
Angular width (3 dB) = 64.7 deq.
Side lobe level = 0.7 dB

Farfield Realized Gain Abs (Azimuth=0)

farfield (F=5.2) [2]

Azimuth= 0 Azirmuth=180

30

Frequency = 5.2

Main lobe magritude = 36 dB
Main lobe drection = -2.0 deg.
Angular width (3 dB) =  68.9 deg.
Side lobe level = -0.7 dB

Elevation / Degree vs. dB

Farfield Realized Gain Abs (Azimuth=0)

—— farfield (F=5.4) [2]

Azimuth= 0 Azimuth= 180

30

Frequency = 5.4

Main lobe magnitude = 3.65 dB
Main lobe drection = -3.0 deg.
Angular width (3 dB) = 65.1deg.
Side lobe level = -1.0dB

Elevation / Degree vs. dB



Farfield Realized Gain Abs (Azimuth=0)

Azirmuth= 0

Azimuth=180

Elevation [ Degres vs. dB

ichematic FarfieldsiFarfield (F=5.8) [1]

30

Frequency = 5.8

Main lobe magnitude =

farfield (f=5.8) [1]

0.609 dB

Main lobe drection = -8.0 deg.
Angular width (3 dB) = 57.4 deg

Side: lobe level =

-05dB

Azimuth= 0

Farfield Realized Gain Abs (Azimuth=0)

farfield (F=5.8) [2]
€0 Azirmuth=180

30

Freguency = 5.8

Main lobe magriude = 3.09 dB
Main lobe drrection = 2.0 deg.
Angular width (3 dB) = 52.3 deg.
Side lobe level = -1.0dB

Elevation / Degree vs. dB



